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UPPER & LOWER BOUNDS (HARDER)
HIGHER TIER SOLUTIONS

Question 3 onwards are the
calculator allowed questions
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1. The voltage, ¥ volts, of an electric circuit is given by the formula
V =R,

where I is the current measured in amps, and R is the resistance measured in ohms.
. , 23S - 85
During an experiment,
« [was measured at 280 volts, correct to the nearest 10 volts,
» Jwas measured at 0:2 amps, correct to the nearest 0-1 amps.
O \S —0 L%
Calculate the least possible value and greatest possible value of the resistance K. [6]

V=TIe = p=V
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Least possible value of R = Mr .............. ohms

Greatest possible value of R = QQ,Q.
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m A group of pupils are taking turns to ride a zip wire.

Aled models the time it takes each rider to travel sections
of the zip wire.
He uses the farmula

2s
u+v

where:

(@

t is the time taken, in seconds,

s is the distance travelled, in metres, wor kK oult all

u is the starting velocity, in metres per second (ms™1),

v is the final velocity, in metres per second (ms™). O—\‘ e c
(S

Vrishank is the first pupil to ride the zip wire. & ﬁ

The following values were recorded for a section of his ride:

_1ar-s —jaa-S
* 5= 195m, measured correct to the nearest 5m, _ —
« u=5ms-, measured correct to the nearest ms™!,” 4~ § — e
« v=14ms™, measured correct to the nearest ms™. _ 2 g s WX

Using Aled’s model, calculate the least possible time it could have taken Vrishank to travel
this section of the zip wire. [4]

©MathsDIlY.com



(b) Mariis the second pupil to ride the zip wire.
Values for a section of Mari's ride were recorded:

» u=8ms"", measured correct to the nearest ms~!, *-5 —¥ S
« v=21ms™1, measured correct to the nearestms=1!, 2.0-§ — 2\-S
* t=14s, measured correct to the nearest second. 1I2-S - \¥-§
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Using Aled’s model, calculate the greatest possible distance that Mari could have travelled
in this section of her ride. [4]
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